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8.72 Given two rectangular ducts with equal cross-sectional area,

but different aspect ratios (width/height) of 2 and 4, which will
have the greater frictional losses? Explain your answer.

The duct wilh the greaterlossesis the one with the Jargest headfoss
perlength , h. /4, where f, =f bﬁ*i‘f’— . If the areas are eqal, then the
velosifies are E?Uaf since //=Q /. v
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In general, f=f(Re, &) in svch a way that it % iereases , f ipcreases
and if Re decr, Eases, fincreases, This s seen from !%P /I%ﬁp/}!
chart as indicated belov.
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